g1 O/
L AR LT T B fR v eeeee e et e e 1
I T 5 T 1
3 R I 0D Z B v vvreeee e e 1
A EEFRNESE o BRI v eeeeee et 4
FIHE e o B
1 BRI oo 5
I 7 6 LR R TR P 5

AT AR

D 0 7
(1) B AUTIALIR (3 Lo/ o) eevrrremrmeeeeeeeea e 7
Q) TR B S v veeeeee e e ettt 7
D) B L T DR v vveeeeeme ettt 7
C) B QIO FEHE oo 8
(2) BESURTIALIR (2 Lo/ 0 ) eevrererreeeeeee e 8
Q) TR B v vveeeeee ettt et 8
D) B L T DR v veeeeeeme ettt 8
C) B QIO FEHE oo 9
(3) BB URTIALIR (1 Lo 0 ) eeererrrreeeeeeee e 10
D B e 11
(1) BEARTIAR (3 R LI Tr) wevrrmmmmmmeeeiaa e 11
Q) B T T H oo 11
D) B L B H G v vveeeeee e 11
(2) BESURTIALIR (2 Lo/ 0 ) ceerererreeeeeee e 12
Q) B LT H oo 12
D) B L B H GBI e eveeeeee e 12
C) B QT H I 14
Q) B 2 B A v eveeeeeeeeeeeee e 15



S HH XA

XIhR 1
XIhR 2
IR 3
IR 4
XIhR 5
XIhiR 6
IR 7
BXIhi 8
IR 9
i 10
IRk 11

Phi 12

P13

X 14

X 1
X 2
X 3
X 4

RUTY= R/

AR R (A B22 X ) s 2 2 E)

BB KIAEI (2 MLy F) LI TEY
L EBWIMEI (2 ML ¥ F) 1 REHIIRE A
BB WIRAEN (2 ML yF) L EE R EY
L EBKIAEI (2 ML F) 20T
BB KIHAEK (2 MLy F) E2RE TRy

B B 4KRFEKX (3 ML rF) BEWEE (1 :80)
W B4ARFEEX (3 ML yF) FE1EFRA (1 :80)
W BARFEEX (3 ML yF) E2mFmEH (1 :80)
W ESKRFEEKX (2 ML rF) BEWTEE (1 :80)
W ESKREEX (2 L ryF) HE1EFRENA (1 :80)
i ESKRMEKX (2 L yF) SB1. SA2, SKI3F - WX (1 :50)
W ESKREEX (2 ML yF) E2mFmEH (1 :80)
W BERFEX (1 ML rF) F - BEREE (1 :40)
B BEAREEX (3FLUF) EHRFAEX (2 L rF) HEEML (1
Y ESKMAEKX (2 L rF) HEEWm2 (1:2, 1:4)
#E 1. FAKRAEKX (3bLrF) Flmmaer (E2EH)
2. FBAKRAEX (3 bLrF) FE2mEmaes (EAEHE)
#HE 1. BFHERAERK (2bLrF) FlmEmaer (E2E)
2. EHWHAEX (2 bLrF) FE2mEmai (E2E)
) 1. B4KRFAFEK (3 L rF) &1HEHETEY
2. BAKREX (3bLYF) H1BHLED
3. ELERHEX (2 L rF) H1BHL e
) 1. B4KRAEX (3 ML yF) £1BHLFER
2
3
4
5
6

X H K

FIAHAT TR 1 (1 1 15,000) --veeerermmmemmmmmmememeneeeeeaee e
FIAHAT B 2 (1 1 2500) ++vvvveerrmmmmemmmemmeeeeeeeee et
HHE P - FARXERTEI (1 400)  -vvvveeeremmmmmmmmmmeeee ettt
JEISEHMT TR (1 10,000) errrerrermmmmmmmmmmmmmeeeeee e

D 4)






